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(Only for Fresh/School Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 35 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 35 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
        All questions are compulsory. 
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    (ii) iz'u Øekad 1 ls 35 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA 
        Questions from 1 to 35 are objective type questions. Each question is of                  

1 mark.  

1. BCC O;oLFkk esa [kkyh txg fdrus izfr'kr gS \  1 

(A) 74%  (B) 68% 

(C) 32%  (D) 26% 

Percentage of empty space in a BCC arrangement is :  

(A) 74%  (B) 68% 

(C) 32%  (D) 26% 

2. 'kq) ty dh eksyyrk gS %  1 

(A) 20  (B) 18 

(C) 10  (D) 55.5 

The molality of pure water is :  

(A) 20  (B) 18 

(C) 10  (D) 55.5 

3. AgAgCuCu //// 2 ++  lsy vfHkfØ;k ds fy, % 1 

(A) dSFkksM ds :i esa Cu (B) dSFkksM ds :i esa Ag 

(C) Ag ,d vkWDlhdj.k dkjd gS (D) mijksDr esa ls dksbZ ugha 

For the given cell reaction : AgAgCuCu //// 2 ++   

(A) Cu as cathode (B) Ag as cathode 

(C) Ag as oxidising agent (D)  None of the above 
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4. fuEufyf[kr osx fLFkjkad ls vfHkfØ;k dh dksfV Kkr dhft, 114
mol106.2

−−−
×= SLK  1 

(A) izFke  (B) 'kwU; 

(C) f}rh;  (D) dksbZ Hkh ugha 

Identify the order of reaction from given rate constant 114
mol106.2

−−−
×= SLK   

(A) First  (B) Zero 

(C) Second (D) None of these 

5. gkMhZ-'kqYts fu;e ds vuqlkj fuEu esa ls fdldh Å.kZu {kerk lokZf/kd gS \  1 

(A) +3Al  (B) +2Ba  

(C) +Na   (D) +K  

According to Hardy-Schulze rule, which of the following has highest 

flocculating power ?  

(A) +3Al  (B) +2Ba  

(C) +Na   (D) +K  

6. fuEufyf[kr ;kSfxdks esa lcls de DoFkukad fdldk gS \  1 

(A) SeH2  (B) TeH2  

(C) OH2  (D) SH2  

In the following compounds which has minimum boiling point ?  

(A) SeH2  (B) TeH2  

(C) OH2  (D) SH2  

7. fuEu esa izcy vipk;d gS % 1 
(A) 3PH   (B) 3BiH  

(C) 3SbH  (D) 3AsH  

In the following strongest reducing agent is :  
(A) 3PH   (B) 3BiH  

(C) 3SbH  (D) 3AsH  
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8. fuEufyf[kr vk;u esa dkSu-lk tyh; foy;u esa jaxghu gS \  1 

(A) +2Fe  (B) +2Mn  

(C) +3Ti   (D) +3Sc  

Which of the following ion is colourless in aqueous solution ?  

(A) +2Fe  (B) +2Mn  

(C) +3Ti   (D) +3Sc  

9. fdl /kkrq dk ?kuRo lcls T;knk gksxk \ 1 

(A) Pt  (B) Os 

(C) W  (D) Hg 

Which Metal has highest density ?  

(A) Pt  (B) Os 

(C) W  (D) Hg 

10. ;kSfxd 363 ])([ ClNHCo esa milgla;kstu D;k gksxh \ 1 

(A) 3  (B) 4 

(C) 6  (D) 2 
What is the Co-ordination number in the 363 ])([ ClNHCo  Compound ?  
(A) 3  (B) 4 

(C) 6  (D) 2 

11. 362 ])([ ClOHCr  esa Øksfe;e dh vkWDlhdj.k la[;k gS % 1 

(A) +4  (B) +3 

(C) –3  (D) +2 
The Oxidation number of chromium in 362 ])([ ClOHCr  is :  

(A) +4  (B) +3 

(C) –3  (D) +2 
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12. dkcZfud ;kSfxd tks 2
NS  fØ;k esa iw.kZ LVhfj;ksdsfedy bUolZu n'kkZrk gS %  1 

(A) ClCH −3  (B) ClCHCH −23 )(  

(C) ClCCH −33 )(  (D) mijksDr esa ls dksbZ ugha 

Organic compound which shows complete stereochemical inversion during 
2

NS  reaction :  

(A) ClCH −3  (B) ClCHCH −23 )(  

(C) ClCCH −33 )(  (D) None of the above 

13. fuEufyf[kr esa dkSu vf/kd vEyh; gS \ 1 

(A) csfUty ,sYdksgy (B) lkbDyksgsDlsukWy 
(C) QhukWy  (D) M-DyksjksQhukWy 
Which of the following is most acidic ?  
(A) Benzylalcohol (B) Cyclohexanol 

(C) Phenol (D) M-Chlorophenol  

14. fofy;Elu la'ys"k.k fuEufyf[kr esa fdldks cukus dh fof/k gS \  1 

(A) ,sYdksgkWy (B) ,sehu 
(C) dhVksu  (D) bZFkj 
Williamson Synthesis is used to prepare :  
(A) Alcohol (B) Amine 

(C) Ketone (D) Ether 

15. ,sflfVd vEy dk IUPAC uke gS % 1 

(A) bFksuksbd vEy (B) feFksuy 
(C) 2-isUVkuksu (D) feFksuksbd vEy 
IUPAC name of Acetic acid :  
(A) Ethanoic acid (B) Methanal 

(C) 2-Pentanone (D) Methanoic acid 
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16. fuEufyf[kr esa o3  ,sehu dkSu-lh gS \  1 

(A) esfFky,sehu (B) Vªkb,fFky ,sehu 

(C) ,fFky,sehu (D) t-C;wfVy,sehu 

Which of the following is a o3 -amine ?  

(A) Methylamine (B) Triethyl amine 

(C) Ethylamine (D) t-butylamine 

17. fuEufyf[kr esa ls dkSu-lk {kkjd DNA esa gS vkSj RNA esa ugha ugha ugha ugha \  1 

(A) Fkk;ehu (B) lkbVkslhu 

(C) ;wjsfly (D) Xokuhu 

Which base is present in DNA but not in RNA ?  

(A) Thyamine (B) Cytosine 

(C) Uracil (D) Guanine 

18. fuEufyf[kr esa eksukslsdsjkbM 'kdZjk dkSu ugha ugha ugha ugha  gS \ 1 

(A) Xyqdkst (B) ÝDVkst 

(C) eSukst  (D) ekYVkst 

In the following which is not a Monosaccharide sugar ?  

(A) Glucose (B) Fructose 

(C) Mannose (D) Maltose  

19. 'kkWV~dh nks"k D;k gS \  1 

What is Schottky defect ? 

20. ,sYdksgkWy ,oa ty ds ,d foy;u esa vkf.od vU;ksU;fØ;k dh D;k Hkwfedk gS \   1 

What role does the Molecular interaction play in a solution of alcohol and 

water ? 
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21. nqcZy oS|qr vi?kV~; D;k gS \  1 

What is a weak electrolyte ? 

22. la?kV~V vko`fr dks ifjHkkf"kr dhft,A  1 

Define collision frequency. 

23. dksykWbMh lkWy esa ls fo|qr /kkjk izokfgr dh tkrh gS] rks D;k izs{k.k gksxk \  1 

What is observed when electric current passed through a colloidal sol. 

24. fyxUM D;k gS \  1 

What are ligands ? 

25. Mkb,stksdj.k vfHkfØ;k D;k gS \  1 

What is Diazotisation reaction ? 

26. lwØksl ds ty vi?kVu ls fdu mRiknksa ds cuus dh vis{kk djrs gS \  1 

What are the expected products of hydrolysis of Sucrose ? 

27. Bkslksa dk vk;ru ……………. rFkk vkÑfr ……………. gksrk gSA  1 

Solids have ………………. volume and ……….. shape. 

28. fdlh vfHkfØ;k ds osx fu;e O;atd esa iz;qDr lkanzrkvksa ds ?kkrkadksa dk ;ksx ……………. dgykrk gSA 

 1 

The sum of the powers of the concentration of the reactants in rate law              

called ……………… 

29. lkekU; :i ls vkarj laØe.k rRoksa dk bysDVªkfud foU;kl ……………. gSA  1 

The general electronic configuration of inner transition elements is ………….. 

30. ])([ 64 CNFeK ladqy ;kSfxd esa ……………. vk;u iSnk gksrs gSA  1 

……………. ions produced from complex compound ])([ 64 CNFeK  ? 
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31. AgBrAgFBrCH +→+ .....................3       1 

 

32. .......
413

42
23 →

K

SOH
OHCHCH  1 

 

33. CHOCHCHCHCHCH 2233 )(  ;kSfxd dk IUPAC uke ……………. gSA  1 

………………. is the IUPAC name of the compound CHOCHCHCHCHCH 2233 )( . 

34. ])([ 3423 OCCrK ladqy ;kSfxd dk IUPAC uke ……………. gSA  1 

……………… is the IUPAC name of the complex compound ])([ 3423 OCCrK . 

 

35. foVkfeu ^Mh* dh deh ls gksus okyk jksx ……………. gSA  1 

……………………. is the deficiency disease of Vitamin 'D'. 

 

S 


